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NEW QUESTION 1
Which sources should be used to uncover customer barriers?

A. data, health score, intuition
B. conversation, data, health score
C. intuition, observation, data
D. observation, conversation, data

Answer: D

NEW QUESTION 2
A customer has finalized all of their solution planning and will be deploying it over the next two weeks. As the customer Success Manager, what is the next logical
step to focus on for the customer’s lifecycle journey?

A. Quarterly Success Review build and delivery

B. service introduction to confirm that they know how to submit service issues at the go live
C. initial user group identified and their use cases confirmed

D. customer’s stakeholders and their business outcomes

E. additional features that will align with the business outcomes

Answer: B

NEW QUESTION 3
A customer complains about the number of times they must explain their problems and ask different team members to find a solution. How can this issue be
avoided?

A. Share the company's organizational chart with the support team.

B. Provide customers with relevant use cases for the purchased solution.
C. Ensure that the customer knows the point of contact for product training.
D. Clarity roles and responsibilities with the stakeholders.

Answer: D

NEW QUESTION 4
Which scenario represents a use case expand opportunity?

A. usage KPlIs are on target entering the fourth quarter

B. supplementary training sessions are organized on existing features

C. solution management team adds headcount

D. endpoint security solution extended to cover data center servers in addition to laptops

Answer: D

NEW QUESTION 5
What are two examples of expand opportunities? (Choose two.)

A. providing solution optimization services

B. adding headcount to manage solution by the customer
C. training on existing features

D. hosting an executive review

E. increasing license count

Answer: AE

NEW QUESTION 6
What defines customer success?

A. the business methodology of ensuing that customers are always on the latest software releases and subscription contracts so customers can focus on core
business activities.

B. a measure of the Net Promoter Score resulting from a disciplined engagement of sales, services, marketing, and customer success teams working seamlessly
together to deliver a positive experience.

C. the business methodology of ensuring that customers achieve their expected and unexpected outcomes while using the product or service.

D. the business methodology for increasing recurring revenues by minimizing the risk of churn while driving adoption and expansion.

Answer: C

NEW QUESTION 7

What is Quarterly Success Review?

A. new success plan that focuses on the upcoming goals for the customer.

B. gap analysis that focuses on the state of the customer’s current architecture.
C. technical analysis that outlines the implementation plan and adoption barriers.

D. a conversation that outlines key initiatives that are agreed upon in the success plan.

Answer:
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NEW QUESTION 8
Refer to the exhibit.

Utilization
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What does this health score indicate?

A. The customer is unlikely to renew this license.

B. The customer is unlikely to advocate for this product.
C. The customer needs to consume more of this product.
D. The customer needs to purchase more licenses.

Answer: C

NEW QUESTION 9

In which stage does the Customer Success Manager initially validate stakeholders?

A. onboarding
B. deployment
C. utilization
D. purchase

Answer: A

NEW QUESTION 10

From a Customer Success perspective, why should the customer’s health be monitored?

A. to provide the opportunity to address any changes in the customer's experience around the solution
B. to identify unused licenses so they can be addressed via a service improvement plan

C. to directly enable renewals

D. to give the customer valuable insight so they can automatically renew critical services on time

Answer: C

NEW QUESTION 10

Which perspectives are covered in a balanced scorecard?

A. customer, employee, partner,

risk

B. business process, customer, financial, learning, growth

C. competition, culture, financia
D. IT systems

E. business outcomes, customer, employee, risk

Answer: B

NEW QUESTION 14
Refer to the exhibit.
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Chart Title
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The graph shows a customer with a software product and highlights the number of paid- for licenses (shown with the orange line) and the number of users actively
using the product (shown with the blue line). Which statement about the customer is true?

A. The customer has a high probability to renew and will include an expanded opportunity

B. The customer’s usage is too low to correctly measure the chance of their retention

C. The customer has increased usage, which shows a strong indicator of renewal

D. The customer’s usage has seen a recent decline and the chance of them churning will be higher

Answer: D

NEW QUESTION 16
A client deployed a new collaboration solution six months ago. Utilization telemetry indicates only 60% of activated users are engaging with the solution. Which two
actions should the Customer Success Manager recommend to the client? (Choose two.)

A. Have marketing write a blog post about the new solution.

B. Encourage the customer to purchase updated endpoints.

C. Block all alternative chat and video collaboration systems.

D. Conduct a survey to determine which collaboration solutions users are using.
E. Advertise additional user training sessions throughout the organization.

Answer: CE

NEW QUESTION 21
Throughout the customer lifecycle, opportunities can occur that lead to customers becoming advocates for the Customer Success Manager’'s company. Which two
opportunities can lead to advocacy? (Choose two.)

A. moments of success when the customer acknowledges progress
B. successful contract renewal

C. green health scores over intermittent time periods

D. continuing results based on unexpected value

E. results that are not measurable

Answer: AD

NEW QUESTION 25

What is a lagging indicator of the customer achieving the value proposition?
A. product deployment

B. contract renewal

C. decrease in the number of problem reports

D. movement to evaluate stage

Answer: C

NEW QUESTION 26

What is a consideration in evaluating readiness for adoption?

A. Identify features or functions that are not deployed or underutilized.
B. Identify potential accelerators that could optimize performance.

C. Review customer acceptance test plan.

D. Validate that all required items have been purchased.

Answer: C

NEW QUESTION 28
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From a Customer Success perspective, which reason to monitor your customer’s health is the most important?

A. It provides the opportunity to address any changes in the customer’s experience or actions around the solution
B. It allows the customer to identify unused licenses so they can be addressed via a service improvement plan

C. Understanding your customer’s health directly enables renewals

D. It gives the customer valuable insight so they can automatically renew critical on time

Answer: C

NEW QUESTION 32
Refer to the exhibit.
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Which action must be taken by Customer Success Manager?
A. Recommend expansion opportunities

B. Review the financial index.

C. Develop a customer testimonial.

D. Identify the adoption barriers.

Answer: D

NEW QUESTION 33

:. : _—

Adopt Optimize

Action Plan Cal

Action Plan details:

VIEW THE PLUG AND PLAY PAGE - ->

* View the ‘Plug and Play’ page bi-weekly
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SCALE THE NETWORK INFRASTRUCTURE -->

* Ensure that at least 80% of your licensed devices show
as ‘Provisioned' under Plug and Play

A Customer Success Manager was assigned a strategic new account. Which action prepares them for the customer introduction meeting?

A. Engage with the account team to understand the expansion opportunities.

B. Perform a deep analysis of all the sales orders to the past 24 months.
C. Document customer's current technical escalations.

D. Speak the internal contacts to understand the customer's priorities and sentiment.

Answer: C

NEW QUESTION 37
Refer to the exhibit.
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Which initial action does a Customer Success Manager take?

A. Run analysis on all the license types used by the customer on all platforms

B. Share the report with the customer point of contact for license types B and D and determine causes

C. Provide trending information on license types B and D and share with all stakeholders

D. Inform the Sales Account Manager to position a new version of licenses types B and D with additional features

Answer: C

NEW QUESTION 40
The Customer Success Manager is preparing for a review meeting. The customer has asked for a balance between subjective and objective metrics. Drag and
drop the inputs from the left onto the correct subjective and objective categories on the right.

Objective

customer's perceived value

customer satisfaction ratings

number of customer escalations

number of customers retained

Subjective

percentage of marketing emaills that are
pened and responded to

value feedback

A. Mastered
B. Not Mastered

Answer: A

Explanation:

A picture containing diagram Description automatically generated
NEW QUESTION 45

What are two drivers for Customer Success? (Chooser two)

A. The customer trusts that Cisco support will solve any issues.

B. The customer receives training for new products and services.
C. The customer recognizes the value of initial use case implementations.
D. The customer gives feedback about the purchased product.

E. The mature and fully deployed solution is running in production.
Answer: BC

NEW QUESTION 48
Your customer’s business outcome is to drive employee efficiencies. Which key metrics measure this outcome?
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A. increase in new subscribers or increase in end users

B. number of incidents reported or number of compliance issues
C. reduction in headcount or operational support costs

D. customer and employee feedback

E. number of activities completed or increase in direct time

Answer: E

NEW QUESTION 50

A customer voices frustration because the purchased solution is not being adopted as expected within the organization, and the organization’s new leadership
does not have a historical perspective of the expected outcomes. Which two activities should the Customer Success Manager initiate to create mitigation plans to
address these risk factors? (Choose two)

A. Research the list of accelerators.

B. Review the account health score.

C. Analyze the adoption report.

D. Examine the recent QBR results.

E. Evaluate the architecture value cards.

Answer: CD

NEW QUESTION 51
On which two objectives should communication with customer executives focus? (Choose two)

A. return on investment
B. new sales

C. product improvement
D. user training

E. time to value

Answer: AE

NEW QUESTION 56
An external customer case study is being created. Drag and drop the contents which show value from the left onto the right. Not all content choices are used.

daac Demonstrates Value
customer specific industry

cost of the adoption service

desired business outcome

baseline metrics | KPI

customer testimonials

expand opportunities

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Diagram Description automatically generated
NEW QUESTION 61

Which of these is included in a success plan?
A. confidential customer information

B. customer business outcomes

C. customer HR processes

D. services cost

Answer: B

NEW QUESTION 64
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The customer has a new leadership team that expresses concern over the lack of adoption of a purchased solution. Which two activities must the Customer
Success Manager initiate to mitigate this risk? (Choose two.)

A. Create a new Health Index dashboard with the Sales team.

B. Evaluate the customer's expertise in managing the purchased solution.

C. Examine solution pricing with the Renewals Manager.

D. Schedule Quarterly Business Review with the new leadership team.

E. Review the original business case and reassess desired outcomes with the new leadership team.

Answer: BE

NEW QUESTION 67
Which activity reduces the risk of chum?

A. providing a discount on renewal
B. lowering the service level

C. expanding the customer footprint
D. educating on product features

Answer: C

NEW QUESTION 70
Which two metrics are used by Customer Success Managers to measure customer success? (Choose two.)

A. help desk data

B. health score

C. risk management
D. telemetry

E. training surveys

Answer: BD

NEW QUESTION 74
The customer wants to increase the number of services in their portfolio and improve the time to launch these services. Which two business outcomes are
appropriate? (Choose two.)

A. cost efficiency

B. employee satisfaction
C. time to market

D. business growth

E. sustainability

Answer: CD

NEW QUESTION 76
Which definition of customer success is true?

A. It is the business methodology of ensuring that customers achieve their expected and unexpected outcomes while using your product or service.

B. It is a business methodology for increasing recurring revenues by minimizing the risk of churn while driving adoption and expansion.

C. It is the business methodology of ensuring that customers are always on the latest software releases andsubscription contracts so that they can focus on the
core business activities that make them successful.

D. It is a measure of the Net Promoter Score that results from a disciplined engagement of sales, services, marketing, and customer success teams working
seamlessly to deliver a positive experience for the customer.

Answer: B

NEW QUESTION 80
Which two actions are critical when communicating with executives? (Choose two.)

A. Keep services as a primary topic
B. Focus on the value achieved

C. Incorporate the sales team'’s plan
D. Target executive priorities

E. Focus on technical details

Answer: AD

NEW QUESTION 81
During the delivery of a security solution, adoption barriers were identified. Those barriers were addressed, and the customer’s business goals are now fulfilled.
The customer is pleased with their solution and shares this experience in blogs and social media. In which stage is the customer?

A. Adoption
B. Optimize
C. Expand

D. Advocate

Answer: D
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NEW QUESTION 85
Which two adoption outcomes are renewal indicators? (Choose two)

A. customer testimonial
B. solution discount

C. payment schedule
D. optimized services
E. training attendance

Answer: AC

NEW QUESTION 89
What is the purpose of targeted use cases?

A. They highlight the product differentiation from a competitor.

B. They define how a solution is applied to enable a desired outcome.

C. They function without the purchase of additional services.

D. They provide customers with ways to take advantage of additional features.

Answer: A

NEW QUESTION 90

Your client, the Director of IT Policy and Governance of Easternbank, has just informed you that the CIO is dissatisfied with the current level of utilization of the
collaboration solution that was deployed 3 months ago. The client has requested a meeting to improve the situation. Which reports are critical to the success of the
meeting?

A. number of users registered, bandwidth utilization, number of training sessions user joined

B. number of users registered, service logs, number of users

C. number of users registered, number of meetings user initiated, number of meetings user joined
D. network utilization, number of meetings user initiated, number of users

Answer: C

NEW QUESTION 95
The customer wants to improve operational expenditure and reduce the C02 footprint of the organization. Which two business outcomes are critical to the
company'’s success? (Choose two.)

A. sustainability

B. credibility

C. time to market
D. business growth
E. cost efficiency

Answer: BE

NEW QUESTION 97
Which type of analytics has telemetry that shows the customer’s use of the software and defines what has happened to date?

A. descriptive
B. diagnostic
C. prescriptive
D. predictive

Answer: B

NEW QUESTION 102
The customer wants to increase their market share and protect brands reputation. Which two business outcomes are critical to the company’s success? (Choose
two.)

A. risk management
B. credibility

C. business growth
D. cost efficiency

E. sustainability

Answer: BC

NEW QUESTION 107
A customer is coming up for renewal in 180 days for three solutions. One of the solutions has not been fully enabled. The other two solutions are in regular use in
production. How should the Customer Success Manager address the one solution that has not been fully enabled?

A. Contact the services team and request that they reach out to the customer to address the solution

B. Make the renewals manager aware that the one solution is not fully implemented but the other two are fine

C. Investigate why the customer has not enabled the solution and work with the sales and renewals teams to address the issue
D. No action is needed because the customer will probably renew and you can address the issue after the renewal
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Answer: B

NEW QUESTION 109
How are operating expenses (OpEXx) different from capital expenses (CapEx)?

A. OpEx are investments a company pays for up-front, while CapEx are the on-going costs to run a business.

B. OpEx includes software licenses with contracts that have user rights in perpetuity, while CapEx includes software services that are easily reconfigured.
C. OpEx is expenses for the day-to-day operation of a business, while CapEx is investments in assets.

D. OpEx has depreciation, while there is no deprecation with CapEx.

Answer: C

NEW QUESTION 111
Which two activities support Customer Success planning? (Choose two.)

A. service ticket tracking

B. adoption barrier identification

C. quality control

D. service delivery program management
E. KPI tracking

Answer: BD

NEW QUESTION 115
Which action should be taken when new company leadership is forcing a competitor’s solution?

A. Recheck the value realized by the current solution.

B. Demonstrate how the current solution is a lower-cost solution than competitors.

C. Hold an executive briefing to evaluate risks of the proposed solution.

D. Tell the new leadership about the long-standing relationship between two companies.

Answer: A

NEW QUESTION 116
Which two steps in the customer lifecycle approach are owned by the sales and marketing team? (Choose two)

A. Deployment
B. Adoption

C. Awareness
D. Evaluation
E. Experience

Answer: BC

NEW QUESTION 118
Which type of analytics has telemetry that demonstrates the customer’s use of the software and actions to date?

A. diagnostic
B. descriptive
C. prescriptive
D. predictive

Answer: B

NEW QUESTION 123
Which definition of a use case is true?

A. comparison of the marketing description of what a product does to the customer’s experience

B. list of actions or event steps that a customer uses

C. list of actions or event steps that typically defines the interactions between a role and a system to achieve a goal
D. list of instructions that customer uses for their software

Answer: C

NEW QUESTION 125

The executive team decided to purchase 500 licenses to reduce costs and replace the existing solution, which has been in place for the last 10 years. The end-
users were not consulted. Three months into the project, reports show the consumption analytics indicate a high usage of the old system and only 75 licenses
active in the new software. Which two adoption barriers must be investigated? (Choose two)

A. limited telemetry

B. purchase policy process
C. lack of common features
D. lack of communication
E. business misalignment
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Answer: BD

NEW QUESTION 128
In which lifecycle stage would a lack of skilled resources be identified as a barrier?

A. sales proof of concept
B. late-stage adoption

C. early-stage adoption
D. solution renewal

Answer: A

NEW QUESTION 130

During the past few months, the Customer Success Manager has been working on adoption sessions with all Network Security Staff from Company ABC. They
had significant progress in how administrators are using the solution, implementing best practices, and reducing by half the time they spend performing a repetitive
task. However, in a recent conversation, upper management questioned the renewal of the solution subscription. Which barrier must the CSM overcome?

A. operational
B. business
C. technical
D. data

Answer: B

NEW QUESTION 131
A Customer Success Manager must deliver high touch customer success experience. Which customer engagement model must be used?

A. Utilize a digital engagement so all your customers experience the touch of customer success

B. Utilize people to focus on the elite customers for a 1:1 or 1:few onsite customer success experience
C. Utilize the service team to form a larger internal team to lead the engagement

D. Utilize people to focus your customers in a 1:many customer success experience

Answer: B

NEW QUESTION 133

A customer does not feel they have received value from a software solution, and the 3-year contract is expiring in 60 days. The customer is hesitant to continue
spending money and is considering other alternatives. Which stakeholder is responsible for ensuring that the customer realizes value from solutions coming up for
renewal?

A. Renewals Manager

B. Account Manager

C. Product Sales Specialist

D. Customer Success Manager

Answer: D

NEW QUESTION 136

What is the main objective of customer success?

A. customer's return on investment

B. known and unknown features of our product and solutions
C. customer's reduction of risk

D. outcomes customers are trying to achieve

Answer: D

NEW QUESTION 140
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